

ernitentung Engineer Hydraulic circle Pulwama Hq; Shoplan

Address: Batpora Shopian, Email:sehydraulicshopian@gmail.com , Phone/Fax: 01933260250

Allotment Order No. SE/HYD/SPN/Allot/JJM/ Og of 2022-23 Dated: 17/12/2022.

Construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, Subject: operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM--- issuance of allotment thereof.

- Ref:
- i. Executive Engineer Jal Shakti PHE Division Awantipora's E-NIT No. 27 of 2022-23, dated: 01-08-2022.
- ii. Executive Engineer Jal Shakti PHE Division Awantipora's Letter No. PHA/5157-58, dated: 11-11 2022.
- iii Minutes of meeting DJJM Pulwama and approval thereof held on 02-11-2022 issued vide No. 4854-62, dated: 04-11-2022.
- iv. Accord of administrative approval order No. CE/PHE/DB/225 of 06/2021, dated: 12-06-2021 issued Chief Engineer Jal Shakti (PHE) Department Srinagar Kashmir.
- v. Technical Sanction order No. CE/PHE/DB/ 507 of 09/2022 dated: 09-09-2022 issued vide No. CE/PHE/DB/21139-43, dated: 09-09-2022 by Chief Engineer Jal Shakti (PHE) Department Srinagar Kashmir.

Advertised Cost: Rs. 285.58 lacs (Rupees Two Crore eighty five lac and fifty eight thousand only). Alloted Cost: Rs. 267.019 lacs (Rupees Two Gore Sixty seven lac one thousand and nine hundred only). Head of Account: MH-4215 JJM.

ORDER

For and on behalf of Lt. Governor of J&K Union Territory contract for "Construction of WSS Khasipora Paribal by way of laying/fitting, sluice chamber, Chowkidar quarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM--- issuance of allotment thereof "of Division Awantipora of Kashmir Province of UT of J&K", under Jal Jeevan Mission (JJM) is hereby allotted in favour of M/S: Irfan & Co., Prop: Irfan Ahmad Kuchay, S/o: Farooq Ahmad Kuchay R/o: Barsoo Awantipora bearing Registration No. 774/AYY/(Civil/Sanitary)/CE/KCC/PDC/2007-08, dated: 29-10-2007 at the rates approved as Shown in "Annexure A" to this allotment order.

Performance security deposited by contractor vide No. 068668, dated: 15-12-2022 for an amount of Rs. 571164.00 and No. 068666, dated: 08-12-2022 for an amount of Rs. 230000.00 are being retained as Security deposit in the Circle office.

Terms and conditions:

The contract shall be governed by the following terms and conditions:

- 1. The cost of work in no case exceed beyond Rs. 267.019 lac (Rupees Two crore sixty seven lac one thousand and five hundred only).
- 2. The allotted rate for each item is below -6.5% of the corresponding advertised rate.
- 3. The date of start of the subject work shall be reckoned from the date of Issuance of this allotment order/L.O.I. In case of failure to start the work within three days of issuance of this allotment order/L.O.I action as warranted shall be initiated.
- 4. As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the bidder/firm shall also be required to execute an agreement with the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, prevent this contract from being enforced against the firm and the date of delivery of the material/completion of works shall be reckoned from the date of issue of L.O.I/ allotment order in favour of successful firm.
- 5. Performance security equivalent to 03% of the valve of the contract which works out to Rs. 801164.00 /- shall be retained by this office till the work is completed and DLP is over.
- 6. The work shall have to be completed within a period of 180 working days from the date of issuance of this allotment order/L.O.I failing which penalty upto 10% of the total value of contract shall be imposed upon you.
- 7. The defects Liability period shall be for a period as mentioned in Standard Bidding Document/E-Nit which shall commence after the successful completion of Trial run, during the defects Liability period (DLP) the agency



have to operate & maintain the scheme as it is required for its successful running & as per Standard Engineering Practices, to the full satisfaction of the department. The agency shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP. In case any defect remains unattended by the agency at the completion of DLP, the department may extend the DLP for such time as deemed fit for getting the defect rectified subject to a maximum ceiling of 6 Months

- All other terms and conditions and technical specifications shall remain the same as laid down in the Standard Bid Document of the subject e-NIT and Terms & Conditions thereof read with the corrigenda, DJJM Minutes of meeting.
- 9. The items in this allotment are not duplicated/reflected in any other allotment order.

Superintending Engineer Hydraulic Circle Pulwama Hq: Shopian.

No. SE/HYD/SPN/Allot/CC/ 6069-74 Dated: 17 /12 / 2022.

Copy to the:

- 1. Mission Director JJM J&K Civil Secretariat Srinagar/Jammu for favour of information.
- 2. Chief Engineer Jal Shakti (PHE) Department Srinagar for favour of information.
- 3. District Development Commissioner Pulwama (Chairman DJJM Pulwama) for favour of information.
- 4. Executive Engineer Jal Shakti (PHE) Division Awantipora for information and necessary action. He is directed to get the work executed as per approved drawings/specifications within allotted cost.
- 5. TO/HD Circle office for information and record.
- 6. M/S: Irfan & Co., Prop: Irfan Ahmad Kuchay, S/o: Farooq Ahmad Kuchay R/o: Barsoo Awantipora.
- 7. File.

"Annexure A"

Construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, operator parter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM--issuance of allotment thereof.

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 08 of 2022-23, Dated: 17/12/2022.

. No.	ltem of work	Unit	Qty	Adv. Rate	Amount	Amount in figures
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	Cum	17440.81	436.00	7604193.16	INR Seventy Six Lakh Four Thousand One Hundred & Ninety Three and Paise Sixteen Only
2	Laying & fitting of G.I. pipes (Light) complete excluding cost of pipes and pipe fittings100 mm Dia	Rm	5000.00	107.70	538500.00	Lakh Thirty Eight Thousand Five Hundred Only
3	80 mm Dia	RM	6810.00	73.05	497470.50	INR Four Lakh Ninety Seven Thousand Four Hundred & Seventy and Paise Fifty Only
4	65 mm Dia	RM	2500.00	73.05	182625.00	INR One Lakh Eighty Two Thousand Six Hundred & Twenty Five Only
5	50 mm	RM	2000.00	40.80	81600.00	INR Eighty One Thousand Si Hundred Only
6	40 mm	RM	4500.00	40.80	183600.00	INR One Lakh Eighty Three Thousand Si Hundred Only
7	25 mm	RM	4500.00	30.65	137925.00	INR One Lakh Thirty Seven Thousand Nine Hundre & Twenty Five Only
8	20 mm	RM	5000.00	20.25	101250.00	INR One Lakh One Thousand Two Hundre & Fifty Onl
9	15 mm	RM	5300.00	20.25	107325.00	INR One Lakh Sever Thousand Three Hundred & Twenty Fiv Only
10	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore	each	75.00	666.25	49968.75	INR Forty Nine Thousand Nine Hund & Sixty Eig and Paise Seventy Fi Only
11	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe)	RM	2000.00	245.55	491100.00	INR Four Lakh Ninet One Thousand One Hund Only

Hoi

SE SE

ł

construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM---- issuance of allotment thereof.

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 08 of 2022-23, Dated: 17/12/2022.							
No.	Item of work	Unit	Qty	Adv. Rate	Amount	Amount in figures	
12	Providing push on joints to centrifugally (spun) cast iron pipes or ductile iron pipes including testing of joints and including the cast of rubber gasket.	Joints	364.00	89.70	32650.80	INR Thirty Two Thousand Six Hundred & Fifty and Paise Eighty Only	
13	Filling available excavated earth (excluding rock) in tenches	Cum	15696.73	198.70	3118940.25	INR Thirty One Lakh Eighteen Thousand Nine Hundred & Forty and Paise Twenty Five Only	
14	Carriage of different materials from different sources to dumping site of work by Mechanical Transport Pipe from Avg Lead of 35Kms	MT	201.16	490.12	98592.54	INR Ninety Eight Thousand Five Hundred & Ninety Two and Paise Fifty Four Only	
15	Extra Carriage of different materials from dumping site to actual site of work by manual labouro 1000 Mtr	MT	201.16	989.14	198975.40	INR One Lakh Ninety Eight Thousand Nine Hundre & Seventy Five and Paise Forty Only	
16	Extra carriage for 100 mm dia pipe	mtr	3000.00	15.68	47040.00	INR Forty Seven Thousand &Forty Only	
17	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete	Cum	506.10	616.40	311960.04	INR Three Lakh Eleven Thousand Nine Hundre & Sixty and Paise Four Only	
18	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8 coarse sand 40mm nominal size crushed stone agg.)	Cum	85.89	4861.83	417582.58	INR Four Lakh Seventeen Thousand Five Hundre & Eighty Tw and Paise Fifty Eight Only	
19	Reinforced cement conc. Work in beams, suspended floors roofs having slope upto 15 deg. Landing balconies, shelves, lintels upto floor 5 level excld. Centring, shuttering in 1:2:4 20mm stone agg. Nominal size	Cum	2.31	6978.67	16120.73	INR Sixtee Thousand One Hundr & Twenty and Paise Seventy Three Only	
20	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:3:6 coarse sand 20mm nominal size crushed stone agg.)	Cum	176.07	5437.74	957422.88	INR Nine Lakh Fifty Seven Thousand Four Hund & Twenty Two and Paise Eigh Eight Only	
21	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering (1:2:4 coarse sand 20mm nominal size crushed stone agg.)	Cum	126.00	6465.25	814621.50	INR Eight Lakh Fourteen Thousand Hundred 8 Twenty Or and Paise Fifty Only	
22	P/L in position specified grade of reinforced cement cencrete excld. The cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. 1:1.5:3 graded stone agg. 20mm nominal size	Cum	129.71	7800.76	1011836.58	INR Ten Lakh Elev Thousand Eight Hundred & Thirty Six and Paise Fifty Eight Only	

E

BUS HD EY

mixtunction of WSA Khasipura Paribal by way of laying/fitting, shites chamber, Chowkider guarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under UMpenance of allotment thereat

Allotment Order No: \$E/HYD/SPN/Allot/HM/ OB of 2022-23, Dated: 17 /12/2022

У

6

1-

s. No.	Hern of work	Unit	Ωιγ	Adv. Hale	Amount	Amount in figures
51	Reinforced content concrete work in walls & as well as beams, an principal forces, right having stope up to the familings, balandas shelves, challas lintels, brinds, plan, window vills, static asses and spiral static asses up to floor flee level os buding the cost of contring, shuffiening. Including and inforcement with 1-1-2-3 (1) content - 1.5 contents and (1) grided shuffier aggregate).	(1111)	1/4.85	9849.34	1217870.89	(HR Twelve Lakh Seventeen Thousand Eight Hundred & Seventy and Paise Eighty Nine Only
24	Buck work with PPS bricks of class designation 25 in foundtion & plinth in comont mortar. Its (1 comput. 6 coarso sand)	tum	54,70	n183.75	338251-13	INR Three Lakh Thirly Eight Thousand Two Hundred & Fifty One and Palse Thirteen Only INR Seventy
λ¥.	Extra for brick work in super structure above plinth lavel up to floor V Level(by manual means)	Cum	54.70	1323,65	72403.66	Two Thousand Four Hundred & Three and Paise Sixty Six Only
96	Centring and shuttering incide strutting, proping etc.8 removal of form work fox to the ondetion	5qm	826.95	262, 10	216908.99	INR Two Lakh Sixteen Thousand Nine Hundred & Eight and Paise Ninety Nine Only
27	Walls any this kness	Sqm	1105.19	573.85	634213.28	INR Six Lakh Thirty Four Thousand Two Hundred & Thirteen and Paise Twenty Eight
28	Beams etc.	Sgm	63.98	573.85	36714.92	Only INR Thirty Six Thousand Seven Hundred & Fourteen and Paise Ninety Two Only
29	Domes etc	Sqm	105.89	2086.80	220971.25	INR Two Lakh Twenty Thousand Nine Hundred & Seventy One and Paise Twenty Five Only
30	Extra for domes	Sqm	21.47	1088.45	23369.02	INR Twenty Three Thousand Three Hundred & Sixty Nine and Paise Two Only
31	Structural steel for Posts including priming coat complete	Kg	15643.50	92.85	1452498,98	INR Fourteen Lakh Fifty Two Thousand Four Hundre & Ninety Eight and Paise Ninety
32	P/F of Chain Link fencing 50 x 50 mesh spacing including priming coat	Sqm	728.00	733.50	533988.00	Eight Only Eight Only INR Five Lakh Thirty Three Thousand Nine Hundre & Eighty

Suppo Day

construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM----issuance of allotment thereof.

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 08 of 2022-23, Dated: 17/12/2022. Adv. Amount in S. No. Item of work Amount Unit Qty figures Rate INR Thirty Eight Providing & Fixing 1 mm thick MS Sheet door Thousand with frame of 40x40x6 mm angle iron and 3 Three 33 38393.02 8.82 4352.95 Hundred & mm MS gasset plate at junctions and corners Sam Ninety Three all complete and Paise Two Only INR Two Lakh Six Thousand Providing wood work in frames of doors, Two Hundred windows, clerestory windows & other frames, 206226.38 34 & Twenty Six Cum 2.24 92065.35 wrought framed & fixed in position 2nd class and Paise kail wood Thirty Eight Only INR One Lakh Thirty Providing & fixing panelled or panelled & Thousand glazed shutters for doors & windows and Three Hundred & clerestory windows including ISImarked black 130372.73 3093.80 35 Sam 42.14 Seventy Two enamelied M.S Butt hinges with necessary and Paise screws excluding panelling Second class Kail (Seventy imported wood)35mm thick Three Only INR Seventeen Thousand Six Hundred & Providing & fixing decorative plywood B/S 17659.91 Fifty Nine 7.48 2360.95 Sam 36 decorative veneer (Type 1) confirming to IS and Paise 1328 BWR type Ninety One Only INR Ninety Two Providing CGS sheet roofing fixed with Thousand Six polymer coated J or L hooks bolts & nuts 8mm Hundred & dia with bitumen & GI limpet washers upto(a 92629.18 951.80 97.32 Twenty Nine Sam 37 pitch of 60 degree) excld cost of perlins, and Paise rafters & tresses 0.63mm thick with zinc Eighteen coating not less than 275g/sqm Only INR Thirty Seven Providing ridges of hips of width 60cm overall Thousand width plain GS sheets fixed with polymer Nine Hundred 37927.46 691.35 coated J or L hooks bolts & nuts 8mm dia GI 54.86 & Twenty Rm 38 Seven and limpet & bitumen washers complete 0.63mm Paise Forty thick with zinc coating not less than 275g/sqm Six Only INR Twenty Five Thousand 15mm Cement Plaster on the rough side of Nine Hundred 25968.31 278.60 single or half brick wall of mix 1:6(1 cement:6 Sqm 93.21 39 & Sixty Eight and Paise fine sand) Thirty One Only INR Twenty Seven Distempring with oil bound washable Thousand distemper of approved brand & manufacture Seven 149.05 27785.90 186.42 to give an even shade New work (2 or more Sam 40 Hundred & coats)over and incld. Priming coat with **Eighty Five** and Paise cement primer Ninety Only INR One Lakh Seven Painting with ready mixed Synthetic enemal Thousand paint or approved brand & manufacture in all Five Hundred 882.00 121.95 107559.90 Sqm 41 shades to give an even shade NEW steel work & Fifty Nine and Paise (Two or more coats) Ninety Only INR Thirteen Thousand Finishing walls with water proofing cement Three paint of approved brand and manufacture & of 13309.16 Hundred & 144.98 91.80 Sqm 42 rqd shade to give an even shade New work Nine and Paise Sixteen (2or more coats)applied @3.84kg /10sqm

Only

ADLS E

construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JJM---

			1	I	17/12/2022.	
No.	Item of work	Unit	Qty	Adv. Rate	Amount	Amount in figures
43	Providing glass panes 10kg/sqm (4mm thick)windows and clerestory window shutters (Area of opening for glass panes excld portion inside shall be measured)	Sqm	19.68	938.75	18474.60	INR Eighteen Thousand Four Hundred & Seventy Four and Paise Sixty Only
44	Cement Concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone agg) finished with a floating coat of neat cement incld. cement slurry but excld the cost of nosing of steps etc complete 50mm thick with 20mm n/s stone agg crushed	Sqm	40.14	555.50	22297.77	INR Twenty Two Thousand Two Hundred & Ninety Seven and Paise Seventy Seven Only
45	Providing and Fixing glass strips in joints of cement concrete floors 40mm wide and 4mm thick	Rm	73.18	68.25	4994.54	INR Four Thousand Nine Hundred & Ninety Four and Paise Fifty Four Only
46	Cutting of road and making good the same incl. supply of exta material i.e crushed agg., moorum, Screening,red bajri and labour requiredBituminous Portion	Cum	8.91	3365.60	29987.50	INR Twenty Nine Thousand Nine Hundred & Eighty Seven and Paise Fifty Only
47	WBM	Cum	873.76	1968.25	1719778.12	INR Seventeen Lakh Nineteen Thousand Seven Hundred & Seventy Eight and Paise Twelve Only
48	12mm Cement Plaster finished with a floating coat of neat cement of mix 1:3(1 cement:4 fine sand)	Sqm	1059.75	378.12	400712.67	INR Four Lakh Seven Hundred & Twelve and Paise Sixty Seven Only
49	12mm Cement Plaster finished with a floating coat of neat cement of mix 1:4(1 cement:4 fine sand)	Sqm	170.20	286.05	48685.71	INR Forty Eight Thousand Si Hundred & Eighty Five and Paise Seventy One Only
50	15mm Cement Plaster finished with a floating coat of neat cement of mix 1:3(1 cement:4 fine sand)	Sqm	186.42	306.46	57130.27	INR Fifty Seven Thousand One Hundre & Thirty an Paise Twen Seven Only
51	Reinforcement for RCC work incld straightning, cutting, bending, placing in position & binding all complete (Thermo- mechanically treated bars)	Kg	27775.94	4 87.17	2421228.69	INR Twent Four Lakh Twenty On Thousand Two Hundr & Twenty Eight and Paise Sixty Nine Only
52	Providing & fixing of 40x5mm flat iron hold fast 40cm long including fixing to frameswith 10mm dia bolts nuts &wooden plugs and embedding in cement conc block 30x10x5cm 1:3:6mix (1cement:3ccarse sand:6 graded st agg)20mm nominal size	No	. 64.00	163.05	10435.20	INR Ten Thousand Four Hund & Thirty Fi and Paise Twenty Or
53	Providing & fixing Hardware items complete	No	64.00	100.00	6400.00	INR Six Thousand Four Hund

10

SHAD OF

Kogo S.E

construction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar guarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JiM

No.	otment Order No: SE/HYD/SPN/Allot/JJN Item of work		A	Adv.		Amount in
والمحافظ المحافظ والمستعد المحاف	Nem of WOLK	Unit	Qty	Rate	Amount	figures INR Three
54	150 mm Handles	No	36,00	100.00	3660.00	Thousand Siz Hundred Only
55	L Drop	No	6,00	500.00	3006.00	NP Three Thousand Only
56	Dry rubble masonry with hard stone in foundation & plinth using quarry stone with bond stones	Cum	55.98	2497.50	139810.05	INF One Lakh Thirty Nine Thousand Eight Hundred & Ten and Palse Five Only INR Ten
57	Providing and fixing soil waste pipes (10Ft tong) 100mm dia PVC B Class	Rm	30.00	350.00	10500.00	Thousand Five Hundred Only INR Eight
58	Providing and fixing vent pipes 100mm dia PVC B Class	No	2.00	400.00	800.00	Hundred Only INR Nine
59	PVC colour 100 mm	No	6.00	150.00	900.00	Hundred Only INR Eight
60	P/F of PVC floor trap with Jali	No	4.00	200.00	800.00	Hundred Only INR Twenty
61	Providing and fixing G.I pipes B Class 20' Long compleate with G.I fittings including all necessary fittings like Sockets, Tee, Reducer etc15mm dia nominal bore	mtr	80.00	278.90	22312.00	Two Thousand Three Hundred & Twelve Only INR Ten
62	Providing & fixing water closet squating pan (English W.C Pan)with 100 mm and PVC "P"or "S" trap 10 ftr low leavel P.V.C flushing cistern of app make with manually controlled device with fittings Long Pan pattern white vitreous	No	2.00	5334.85	10869.70	Thousand Six Hundred & Sixty Nine and Paise Seventy Only
63	china W.C pan 580mm Water storage tank PVC tripple layer of approved brand with all necessary fittings	Lit	2000.00) 11.25	22500.00	INR Twenty Two Thousand Five Hundred Only INR Six
64	Stain less steel heavy duty Bib cock long nose	No.	6.00	1000.00	6000.00	Thousand Only INR Three
65	Stain less steel heavy duty angle valve	No.	4.00	950.00	3800.00	Thousand Eight Hundred Only INR One
66	PVC connections	No	6.00	200.00	1200.00	Thousand Two Hundr Only INR Four
67	P/F man hole cover with frame	No	. 4.00) 1000.0	0 4000.00	Thousand Only INR Six
68	P/F of Heating Points	No	o. 4.0	0 1500.0	0 6000.00	Thousand Only INR Ten
69	Lighting Points	No	o. 10.0	00 1000.0	00 10000.0) Thousand Only INR Twe
70	- // (Mater gover of 25 L capacity	N	0. 2.0	00 12000	.00 24000.0	Only INR Set
71	Supply & Stacking of graded stone aggrega 71 at site of size range 63mm to 45mm		um 13	3.60 564.	60 78253.	& Fifty and Pai Fifty Size INR Te
72	Supply & Stacking of stone screening /chippings at site excluding carriage 13.2m nominal size Type A	nm C	Cum 2'	0.52 504	1.40 10350	29 Hundre Fifty a Paise

SUP HD Lip

11

Alle	otmen	t Order No: SE/HYD/SPN/Allot/JJ	M/ DQ	of 2022-23,	Dated:	17/12/20	n .
10.	an a strain (China)	Item of work	Unit	Qty	Adv. Rate	Amount	Account Kigures
73 Laying screen		WBM with specified stone aggregate ing & binding material including ing sorting & consolidation with PRR of onne capacity	Cum	120.00	504.40	60528.00	INTE Soch Thousand Files Hunde & Twenty Eight Only NP Files
74	a ana ang ang ang ang ang ang ang ang an	y & Stacking of Moorum at site	Cum	9,60	528.50	5073.80	Thousand &Seventy Three and Pale Skry Only
75		iage of Materials By MTStone agg. from n avg lead of 20 km	Cum	\$50.08	402,29	221291.68	INP Two Lake Twent One Thousand Two Hundre & Ninety On and Paise Soby Eight Only
76	n	Sand from for an avg lead of 20 km	e anno aire an an an Cum	282.94	402.29	113823.93	INIP One Lakh Thides Thousand Eight Hundred & Twenty Three and Paide Ninety Three Only
77		Cement from for an avg lead of 10 km	MT	168.01	249.65	41943.70	INR Forty One Thousand Nine Hundret & Forty Three and Paise Seventy Only
78	3	Bricks from for an avg lead of 25 km	No.	25982.00	1.20	31178.40	INR Thirty One Thousand One Hundred & Seventy Eight and Palse Forty Only
7	9	Steel from for an avg lead of 10 km	MT	40,48	249.65	10105.83	INR Ten Thousand One Hundred & Five and Paise Eighty Three Only
٤	BO	Stones from for an avg lead of 10 km	Cum	55.98	330.42	18496.91	INR Eighteen Thousand Four Hundred & Ninety Six and Palse Ninety One Only
	81	Soling for 10 Kms lead	Cum	98.10	330.42	32414.20	INR Thirty Two Thousand Four Hundred & Fourteen and Paise Twenty Only
	82	Extra carriage of material from dumping site to site of work by manual labour for 400 mtrs leadAggregates	Cum	411.48	529.80	218002.10	INR Two Lakh Eighteen Thousand &Two and Paise Ten Only
	83	Sand	Cum	253.82	529.80	134473.84	INR One Lakh Thirty Four Thousand Four Hundred & Seventy Three and Paise Eighty Four Only
	84	Cement	Cum	168.01	310.70	52200.71	INR Fifty Two Thousand Two Hundred and Paise Seventy One Only

NOSE.

an

Sologe

enstruction of WSS Khasipora Paribal by way of laying/fitting,sluice chamber, Chowkidar quarter, operator quarter, service reservoir, Anchor block, chain link fencing approach road, retaining wall and levelling under JIMissuance of allotment thereof.

na na hana na kana kana kana kana kana k	Item of work	Unit	Qty	Adv.	Amount	Amount in figures	
, NO . 85	Steel	Cum	40.48	Rate 310.70	12577.14	INR Twelve Thousand Five Hundred & Seventy Seven and Paise Fourteen Only INR Sizty	
86	son an an and a source was to be a source of the source of t	Cum	98.10	623.27	61142.79	INR Sixty One Thousand One Hundred & Forty Two and Paise Seventy Nine Only	
מינים אור איז		an a bhaire ann a thair thar air an tarain air air a tarain	Tota	l Amount	Rs. 28558196.	28	
		Deduct (6.5%) a	is quoted by	Contractor	Rs1856282	2.75	
			and fails with the angulation of the date of the distribution	lotted Amount	Rs. 26701913 (Rupees two C lac one thous and thirteen)	3.50 Crore sixty sever and nine hundre	

HO

6 Superintending Engineer Hydraulic Circle Pulwama/Shopian